x - MODEL 4F [S FLUSH

OPTIONAL SHIPPING LABEL ON THE END STILE.

4 3 v 2 1
‘CLASSIC' RAISED PANEL SHEET: REVISIONS
EMBOSS DOORS EQUIVALENT SECTION CONSTRUCTION: FOR ANY OF THE
— v MODELS LISTED ON THIS DRAWING, THE FOLLOWING 1 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
. S W—-LEVEL DOORS USE EQUIVALENT SECTIONS (UP TO P & 8/8/14 = = CLARIFIED STILE AND HINGE QTY.
THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING}.
IDEAL 4RST, 4Fx WG, W7, ws.
HOLMES 48, 48B ANY OF THESE W—-LEVELS MAY BE SHOWN ON THE

‘CLASSIC’ RAISED PANEL EMBDOSS DOORS OPTIONAL IMPACT RESISTANT
poor wiptH |* OF INTERM|# OF INTERM. GLAZING. SEE SECTION B-B ON
STILES HINGES SHEET 2 FOR DETAILS.
42° 10 607 1 I MAX. IMPACT RESISTANT GLAZING
e’ 10 7107 = 2 SIZE IS 18-1/2"x11".
59 T -0 3 1 (1) INTERM. STILE BETWEEN EACH EMBOSS. EACH
INTERMED. STILE ATTACHED WITH TOG-L-LOC (TOP &
BOTTOM) AND URETHANE ADHESIVE (ALONG CENTER).
A END STILES ATTACHED TO DOOR
T SKIN WITH PATENTED TOG-L-LOC
# OF . - ] : SYSTEM (TOP, BOTTOM, & CENTER).
DOOR HEIGHT | <rrrions | # OF U-BARS 2 'y P . = e oD e
UP 1O 7707 3 7 o 2 il 2 # VIEW B.
7'3° 70 8'9° S 9 7z
90" TO 10'6° 6 11 & £ — =
109" 10 12'3* 7 13 18
126" 10 140" 8 15 o SEE INTERMED. HINGE VIEW C.
14'3° 70 15°9" 3 17 45| B T MIN. ONE PER JOINT. Eh'gEGEBSHLTBOCK
Y gll] 20 | 1]
16°0 10 Al O — END VERTICAL TRACK.
MAX SECTION HEIGHT: 21 I & STILE. ONE LOCK ON
o EACH SIDE OF
ca DOOR.
THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE i
DESIGN WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA I:zl:'—: \\_
BUILDING CODE OR THE INTERNATIONAL BUILDING CODE (BASED ON o
ASCE7-05) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED 3& FNwrg ?g&& e ” :%%E—Eoﬁ%%raﬂ
BUILDING, 2) DOOR HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3) S - == ' DbisE LAl ERGoeEs e END
ANY ROOF SLOPE, AND 4) TESTING IN ACCORDANCE WITH e ONTO VERTICAL TRACK. Tl
ONE SNAP LATCH ON STILE.
ANSI/DASMA 108. SITE-SPECIFIC CALCULATIONS BY A QUALIFIED %V 5
DESIGN PROFESSIONAL MAY DIFFER. /—MOUNT U-BARS EACH SIDE OF DOOR.
A ABOVE HINGE/BOTTOM
RACKET AS SHOWN.
DESIGN WIND SPEED (MPH) 130 140 150 == 1 | === BRACKET AS SHOWN OUTSIDE
i = 7 J HANDLE. LOCK BAR
FXFOSURE, BATEDCRY BE | BE B OPTIONAL OUTSIDE KEYED LOCATION OF _/ L A OUTSIDE END ENGAGES IN
LOCK POSITION OPTIONAL VENT KEYED STILE. TRACK ON
MEAN ROOF HEIGHT 25’ 15 30’ MAX. DOOR WIDTH = 9'—0" HANDLE. E?C'SO%'QE
INSIDE_ELEVATION INSIDE  HANDLE '
OUTSIDE_KEYED LOCK WITH
OUTSIDE KEYED LOCK WITH
SNAP LATCH LOCK OPTION. LOCK BAR LOCKING.
-
\_;_\-.\‘-‘\\\\“\\
oy OF Tl N MANUF ACTURING PRODUCT CODE
/i #14x5/8" SHEET PAN-2F 143
' ; METAL SCREWS DESIGN LOADS: +42.0 P.SF. & —48.0 PSF.
‘ ; TEST LOADS: +63.0 P.S.F. & —72.0 P.SF. PART NO.: N/A
0; f/ j/: I Unless Stated Otherwise | (il [“ 3585 Dghegg%evuosrg WINDLOAD RATING
T - " " n,
' : > 1/47x3/4" SELF TOLERANCES o |y WsIOPAY 155 5155570 4800 W/ DP47
= ‘,’ 2 TAPPING SCREWS 0 = +£.03 Building Products Company Fax No. 513-770-4853
© 5O N u 0‘88 = i-gég DESCRIPTION:  CLASSIC AND CH RP STEEL PAN SC +42/-48 PSF
- i & i = =
7 e o \‘}V 0000 = +.001 DRAWN BY: Mww DATE: 11/18/96| SCALE: NTS DWG.
SERSI%"E‘ST":ET:E&NDE"*R: . 14 GA. END HINGES 18 GA. INTERMEDIATE HINGE Degrees = *1/2° [CHECKED BY: -- DATE: —- SHEET 1 OF 4 |SIZE
ARK IELD,; ML neh b ol Unl Stated Otherwi
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 VEW B MEW O DFM%SJSEOE'?ARE IIF::Ir Ir\?CeHES. DWG. NO.: 101702 VER: TDI

-~ 2 1

4 | 3



% - MODEL 4F IS FLUSH

IMPACT—RESISTANT CONSTRUCTION:

SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL INJECTION—MOLDED POLYCARBONATE FRONT FRAME AND
GLAZING IS GE LEXAN SLX2432T, AN APPROVED CC2 PLASTIC IN ACCORDANCE WITH
IBC/FBC 2606 AND AN APPROVED C1 PLASTIC IN ACCORDANCE WITH FBC 2612.

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.

SECTION B-—B (IMPACT—RESISTANT GLAZING OPTION)

; ; DETAIL 'D’
%

DETAIL D’
—2.25—

Z

%ﬁ%ﬁ?‘\/

MULTIPURPOSE HIGH BOND TAPE
(BETWEEN FRAME AND FACADE).

DECORATIVE FRONT FACADE.

OPTIONAL DECORATIVE
SNAP—IN INSERT.

STRUCTURAL SILICONE SEALANT
(BETWEEN STEEL SKIN AND FRAME).

IMPACT RESISTANT
ONE—-PIECE INJECTION
MOLDED GE LEXAN

L POLYSTYRENE RETAINER FASTENED TO FRAME WITH

4 5 + 2 1
Rl S"'E;T' BE o REVISIONS
MODELS 24 GA REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
cLaorPay 84A, 94 12 e * S SH SEE REVISION HISTORY ON SHEET ONE.
1DEAL 4RST, 4Fx
HOLMES 48, 48B

B (10) #8 x 3/4" PAN HEAD MACHINE SCREWS.
SLX2432T FRONT
FRAME & GLAZING.
IMPACT—RESISTANT ASSEMBLY DETAILS
DRAWING 101702
MANUFACTURING PRODUCT CODE
PAN-2F 143
DESIGN LOADS: +42.0 P.S.F. & —48.0 PSF.
A TEST LOADS: +63.0 P.S.F. & —72.0 P.S.F. PART NO.: N/A
Unless Stated Otherwise - I}I 3585 DSE&4?8E(|)€VS§S WINDLOAD RATING
n,
TOLERANCES o | umm WIOPAY  755% 5152570 4800 \/\/ 7 D P 4 8
0 = +.031 Building Products Company Fox No. 513-770-4853
0'88 = igég DESCRIPTION: CLASSIC AND CH RP STEEL PAN SC +42/-48 PSF
LF L 0000 = +.001 |DRAWN BY: Mww DATE: 11/18/96 SCALE: NTS DWG.
SERSIJ[\}NESEEFGEINEEPR‘: enO Degress: = &1/2"  |eHECKED BY: == DATE: —- SHEET 2 OF 4 |SIZE
IBLD: Pef. &' 7 Unless Staled Otherwi
FLORIDA P.E,'#4§95’,’%Q\Pf, #23832, TEXAS P.E. #91513 orm?n?sm?semz |§r IngHES. DWG. NO.: 101702 VER: TDI



‘CLASSIC’ RAISED PANEL SHEET: REVISIONS
EMBOSS DOORS 3 OF 4
A e REV. NO.| ZONE: | DATE: | ECN NO.|APPVD: DESCRIPTION
CLOPAY 84a, 94 12 = = = = SEE REVISION HISTORY ON SHEET ONE.
IDEAL 4RST, 4F %
HOLMES 48, 48B 5o Jd T G
-1/4 ALL U- i
W = . R e RS o g 2" THICK 20 GA. GALV. STEEL.
D MIN. YIELD STRENGTH: 80 KSI.
; "80 KSI" STAMPED ONTO U—BAR.
—-1 {—— i e
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING 4
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: 24 GA. MIN. G—40 GALV. (. }:
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN STEEL SKIN WITH A T
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO BAKED—ON PRIMER AND A
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED BAKED—ON POLYESTER TOP
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF COAT APPLIED TO BOTH
== SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. SIDES OF STEEL SKIN. ééf@k GB/QF\?LX(.:KSEFEIlZ_AgaP ==
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE BRACKET ATTACHED W/(4)
(WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER A #14x5/8" SHEET METAL
SHALL BE INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB VT L
ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT
FASTENERS MUST BE OF A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE BOTTOM OF SECTION: U—BAR PLACED
THICKNESS OF THE WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO ABOVE OF LEAF HINGE AS SHOWN.
THE STRUCTURAL FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. SHIP LAP JOINTS.

14 GA. GALV. STEEL END HINGE
FASTENED TO END STILES W/(4) EACH
#14x5/8” SHEET METAL SCREWS & (4)

i
§
J';I 1/4" SELF TAPPING SCREWS.
3 fll Eo TOP OF SECTION: U—BAR PLACED ON

C ~{ [—1/2" FROM EDGE

TOP OF LEAF HINGE AS SHOWN.
\ 2—1/4" TALL x 20 GA. GALV. STEEL

' VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): e ‘(J;)B’?JR_ e e e
3/8"x3" LAG SCREWS ON 24" CENTERS. 1-1/8" MIN. O.D. WASHER REQUIRED. LAG SCREWS coloR Al e A

MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

A SECTION. EACH U—BAR ATTACHED WITH
VB (2) 1/4"x3/4” SELF TAPPING SCREWS
PER STILE LOCATION.

VERTICAL JAMB ATTACHMENT (C—90 BLOCK OR 2,000 PSI MIN. CONCRETE COLUMN):
3/8"x3" SLEEVE ANCHOR BOLTS ON 22" CENTERS (2,000 PSI MIN. CONCRETE). WASHERS
B INgIéUDED WITH SLEEVE ANCHORS.

1/4"x3" TAPCON SCREWS ON 19" CENTERS (2,000 PSI MIN. CONCRETE) OR 10" CENTERS
(C—90 BLOCK). 1" MIN. O0.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

13 GA. GALV. STEEL BOTTOM BRACKET.

OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS

gggEFGSlJSé(iF%J%LNSMAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR JAMB ALEE B
' & VINYL WEATHERSTRIP.

SECTION A—A (SIDE VIEW)

SEE ADDITIONAL DETAILS IN "CONNECTING JAMB TO EXISTING STRUCTURES" JAMB FASTENER
ANALYSIS CBPC—JFA-0001 (AVAILABLE ON TDI WEBSITE OR FROM MANUFACTURER).

LR RAREY
~T - My, NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE

e OF Te ', RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND MANUFARTUSING ERORUIET ERRE

¥ ~. V. "IN ACCORDANCE WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THE DRAWING. PAN-2F143

& gt Y DESIGN LOADS: +42.0 P.S.F. & —48.0 P.SF. ST WOs /b

A % TEST LOADS: +63.0 P.S.F. & —72.0 P.S.F. X
A Unless Stoted Otherwise | (il [:I 3585 Dg§e4§8$6evgsrg WINDLOAD RATING
- nI
Ey/ : TOLERANCES o= | uum WIOPAY 1555 9155762400 \/\/ 7 D P 4 8
¢ 0= +.031 Building Products Company Fax No. 513-770-4853
'cf = 588 & i-gég DESCRIPTION: CLASSIC AND CH RP STEEL PAN SC +42/-48 PSF
: b 3 = +.

o T g = '()Qt - 0000 = +.001 DRAWN BY: MWw DATE: 11/18/96 SCALE: NTS DWG.
DESIGN ENGINEER: & = Degrees = £1/2 [CHECKED BY: -~ DATE: —- SHEET 3 OF 4 |SIZE
MARK WESTERF‘E"L'D':’”P.E - Unless Stoted Otherwise 1D
FLORIDA PE. #48495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 101702 VER: TOI

4 3 -~ 2 1



4 3 < 2 1
CLASESJEDSRSAISSgRgANEL SHEzT-OF . REVISIONS
MODELS 24 GA REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
CLOPAY 844A, 94 12 - - - - SEE REVISION HISTORY ON SHEET ONE.
IDEAL 4RST, 4Fx
HOLMES 48, 48B

* - MODEL 4F IS FLUSH

2" TRACK CONFIGURATION.

NOTE: TRACK CONFIGURATION
ABOVE THE DOOR OPENING DOES
NOT AFFECT THE WIND LOAD
RATING OF THIS DOOR.

OPENING HEIGHT

DOOR HEIGHT—‘

- 62"+4"

DOOR COUNTERBALANCE SYSTEM

AND TO TRACK WITH (2) 1/4" RIVETS.

H— AS RQD: SPACING NTE 30" O.C.

2" GALV. STEEL TRACK,
TRACK THICKNESS: 0.60".

TYP. 2-1/2" X 12 GA (0.099")
GALV. STEEL TRACK BRACKETS,
ATTACHED TO JAMB WITH (1)
5/16" X 1-5/8" LAG SCREW PER
TRACK BRACKET.

H-n—________
—= HORIZONTAL TRACK

13 GA GALV. STEEL FLAG BRACKET ATTACHED TO DOOR
JAMB WITH (3) 5/16” X 1-5/8" LAG SCREWS

HEIGHT

ny

SUPPORT BY DOOR
INSTALLER (TO SUIT).

="

eelizd]
I

76"

82"

SISISIE)

88"

94"

"1100”

106"

112"

%

118"

1

124"

130"

136"

|

142"

148"

I

154"

160"

166"

__a_ﬂagaa__
{.ﬁ-F-P(.v-lui\)l\)"ﬁ—-_ODKOLQCOCO\J
I | 1 [ 147
Cl@oomomomomoln

172"

15°-6"

178"

16'-0"

184"

JAMB CONFIGURATION.

OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).
20 GA GALV. STEEL END STILE.

ﬁ‘il 20 GA. MIN. GALV. STEEL INTERM. STILE.

\I |
= $\
I
7/16" 1.0. ROUND 18 GA. GALV. STEEL CENTER HINGE
PUSH NUT FASTENED TO INTER. STILES W/(4) EACH

FASTENER. #14x5/8" SHEET METAL SCREWS.

SYP WOOD JAMB. SEE
"JAMB PREPARATION NOTE". 5 ...,
LA

2-1/2" X 12 GA GALV. STEEL
TRACK BRACKETS FASTENED TO
WOOD JAMBS WITH 5/6” X 1-5/8"
LAG SCREWS.

14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
SHEET METAL SCREWS AND (4) 1/4" SELF TAPPING SCREWS PER END HINGE.

2" GALV. STEEL TRACK FASTENED TO
12 GA GALV STEEL TRACK BRACKETS

WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. SHORT STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
(1) 1/4" X 5/8" BOLT & NUT PER

TRACK BRACKET. SECTION C-C

PREPARATION OF JAMBS BY OTHERS.

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING

3" TRACK IS ALSO AVAILABLE.

-

T,
G

¢ 2

»

by, WEe TERF_::LD

T
ALY
LTS

BESIGN, ENCINEER:
MARK< WESTERFIELD,-P.E., & =

SCREWS.

DOUBLE TRACK
LOW HEADROOM OPTION

DOUBLE HORIZONTAL
TRACK.

MANUFACTURING PRODUCT CODE

PAN-2F 143

PART NO.: N/A
WINDLOAD RATING

W/ DP4¢7

DESIGN LOADS: +42.0 P.S.F. & —48.0 P.SF.
TEST LOADS: +63.0 PSF. & —72.0 P.S.F.
Unless Stoted Otherwise 8585 Duke Boulevord

—{H
Moson, OH 45040 USA
TOLERANCES ore |y Ullay Tel. No. 513-770-4300

+.031 Building Preducts Company Fox No. 513-770-4853

0 =
0'33 S i-gég DESCRIPTION: CLASSIC AND CH RP STEEL PAN SC +42/-48 PSF
: = *.
0000 = +.001 DRAWN BY: Mww DATE: 11/18/96/ SCALE: NTS DWG.
Degrees = £1/2° |CHECKED BY: -- DATE: —- SHEET 4 OF 4 |SIZE

Unless Stoted Otherwise

DIMENSIONS ARE IN INCHES.| DWG. NO.: 101702 VER: TDI

h, Piag gn®

- 4
-

SMraaaas

FLORIDALP.E. #48495, & BT #23832, TEXAS P.E. #91513



